<'Rhino

IASPR/FL
KammBar

Inskruclions

CITY CRASH ()

According to ISO/ PAS 11154:2006

IABPR/FL_a rhinoproducts.co.uk



KammBar Fleet x 1
2.5kg/5.5lbs

Max
50kg/110Ibs

KammBar Pro x 1
2.2kg/4.9Ibs

4 Max
75kg/165lbs

SA397x3[ | SA398x3[ | SA397x3[ | SA398x3 [ |

Fitting Kit

PS180x 6| | SA068 x 6 [_| PS047 x 6| FTO1 x 1]

FS067
(M8 x 20) x 6

S &2

FW002 (M8) x 6 | FWO009 (M8) x 6[ |

2 IASBPR/FL_a



o
o
o
S
i

M8 x 20mm

\u%ﬂﬂQZVWqﬂ
=

//410/%4

R

PS180
PS047

)

~
2]
M
(7]

SA068

IASPR/FL_a



rhinoproducts.co.uk @ sales@rhinoproducts.co.uk

N
\\ UK +44 (0) 151 319 2931

QN

%
,“h<

13mm

=10 Nm

PS180 + M8 x 20mm

.
i

IASBPR/FL_a

Manufactured by Rhino Products Ltd in the United Kingdom.
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



-~ ®
m\ PR®DUCTS

IAAPR/FL
KammBar

Inskruclions

CITY CRASH (,,)J

According to ISO/ PAS 11154:2006

IA4APR/FL_a rhinoproducts.co.uk



KammBar Fleet x 1
2.5kg/5.5lbs

Max
50kg/110Ibs

KammBar Pro x 1
2.2kg/4.9Ibs

d Max
75kg/165lbs

o (@

KammBar Pro

SA422 x 4 [ |

SA397 x4 [ | SA398x4 [ | SA397 x4 [ | SA398x4 [ |

Fitting Kit

PS180 x 8 ] SA068 x 8 [ ] PS047 x 8[| FTO1 x 1 |

FW002 (M8) x 8 | FWO009 (M8) x 8 [ |

FS067
(M8 x 20) x 8

2 IA4APR/FL_a



1 @l :
\ e £
m 0 m (+7) N
= = X
4 L g0 2
=/ 5 3
(7] N
49 “ £ 3
[ 0 . m
@ n
(e g 3
/\ //47( mnﬂ.\% ﬁ .w
(= -8
=Y N\ L - (=]
W 3
RN - Ne Ko Ko KO /
) o o o 0 o O
°% 25 25 20 = il | [ e
0w A » o » o » o %
K] %
- o <

IAAPR/FL_a



rhinoproducts.co.uk @ sales@rhinoproducts.co.uk

N
\\ UK +44 (0) 151 319 2931

QN

%
,“h<

13mm

=10 Nm

PS180 + M8 x 20mm

.
i

IA4APR/FL_a

Manufactured by Rhino Products Ltd in the United Kingdom.
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



<'Rhino

QA3PR/FL
KammBar

Instruclions

CITY CRASH ()

According to ISO/ PAS 11154:2006

QA3PR/FL_a rhinoproducts.co.uk



KammBar Fleet x 1
2.5kg/5.5lbs

Max
50kg/110Ibs

KammBar Pro x 1
2.2kg/4.9lbs

) 4
Max
75kg/165Ibs

KammBar Pro

C04 x3
SA421 x3[ | SA070x4/[ |

SA397 x3[ | SA398x3 [ | SA397x3[ | SA398x3 [ |

Fitting Kit

WWW/

FW002 FWO001 FNOO6 FNOO3
[] [] [] []

(M8) x 12 (M6) x 12 (M8) x 12 (Mé) x 12 SA013 x4 [ |
FS066
(M8 x40) x 12
[]
FTO1 x2 [ |

QA3PR/FL_a



Q

\@xl

QAS3PR/FL_a



M8 x 40mm

11-13, 21-29.

FNOO3

PS177 + M8 x 40mm —

14-29.

QA3PR/FL_a



SN

MS267 + M6 x 20m

QAS3PR/FL_a



MS267 + M6 x 20

8 Nm

oc—
10mm

QA3PR/FL_a



0.uk

@ sales@rhinoproducts.c

0.uk

rhinoproducts.c

N
\\ UK +44 (0) 151 319 2931

\

/

W/

29.

P

_28.

ns Road, Ellesmere Port, CH65 4DR.

Manufactured by Rhino Products Ltd in the United Kingdom.
Deal

Rhino Products Ltd, Rhino House,

QAS3PR/FL_a



-~ ®
K—R\ PR®DUCTS

QA4dPR/FL
KammBar

Instruckions

According to ISO/ PAS 11154:2006

{cm( CRASH (,,)J

QA4PR/FL_b rhinoproducts.co.uk



KammBar Pro x 1
2.2kg/4.9lbs

Max
75kg/165Ibs

KammBar Fleet x 1
2.5kg/5.5lbs

Max
50kg/110Ibs

Co4ax 4
SA070 x 4 [_|

SA421 x4 [ |

= — = 7
SA397 x4 [ | SA398x4 [ | SA397 x4 [ | SA398x4 [ |

WWW/

Fitting Kit

FW002 FWO001 FNOO6 FNOO3
[] [] [] []

(M8) x 16 (M6) x 16 (M8) x 16 (M6) x 16 SA013 x4 [ |
FS066
(M8 x 40) x 16
[] ,
MS267 x 8 | FTO1 x2 [ |

2 QA4PR/FL_b



Q

\@xl

A @ o %
® < "

QA4PR/FL_b



M8 x 40mm

11-13, 21-29.

FNOO3

PS177 + M8 x 40mm —

14-29.

QA4PR/FL_b



SN

MS267 + M6 x 20m

QA4PR/FL_b



MS267 + M6 x 20

8 Nm

oc—
10mm

QA4PR/FL_b



0.uk

@ sales@rhinoproducts.c

0.uk

rhinoproducts.c

N
\\ UK +44 (0) 151 319 2931

\

/

W/

29.

P

_28.

ns Road, Ellesmere Port, CH65 4DR.

Manufactured by Rhino Products Ltd in the United Kingdom.
Deal

Rhino Products Ltd, Rhino House,

QA4PR/FL_b



